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QUESTION 1

Given the code fragment: What is the result?

final List<String> list = new CopyOnWriteArrayList<>():

final AtomicInteger ai = new AtomicInteger (0):

final CyclicBarrier narrier = new CyclicBarrier(2, new Rumbleil {
public void run{) [(System.ocut.println(list}; |} Y%

H:
Runnable r = new Runnable() {
public woid run() |
try { )
Thread.sleep(1000 * ai. mI:"'Ell@hrhndue ())z
} catch (Exception ex) '
l
}
| )
new Ihread(r}.stazrti): &
new Thread(r).startc(); N
new Ihread(r).start().
new Thread(r).stazt{):

A. X, X] [X, X, X, X]

B. [x, X]

C. [X] x, X] [x, X, X]

D. [X] [x, X] [, X, X] [X, X, X, X]

Correct Answer: D

CyclicBarrier is a synchronization aid that allows a set of threads to all wait for each other to reach a common barrier
point. CyclicBarriers are useful in programs involving a fixed sized party of threads that must occasionally wait for each

other. The barrier is called cyclic because it can be re-used after the waiting threads are released.

Reference: https://docs.oracle.com/javase/7/docs/api/java/util/concurrent/CyclicBarrier.html

QUESTION 2

Given:

class Froduct |
rivate double price;
Product (doukle price) |
this.price = price;
} A‘
public double qetEriGE[hgﬁﬁfenurn price; }

4
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and the code fragment:

LisccFroduct>» prd = new Arraylisc<>():
prd. add (new Product (100)):
prd.add (new Product (200});
prd. add (new Product (300)})7
A/ line nl
System.out.println (tctal?ricaj:‘ﬁtf"

".S::-

s

Which code fragment, when inserted at line n1, results in the following output?

600.0

A. double totalPrice = prd.stream/()
.reduce (0.0, Double::sum);

B. double totalPrice = prd.streami) N o)
.reduce (0.0, (pl, p2) -> pl +@£Y;

C. double totalPrice = prd. streamﬂ
.parallel () %
.reduce (0.0, (pl, pE/], r-} Z‘ég:ul .getPrice() + p2.getPrice()):;

doukle totalPrice ?,ﬁ#ﬂiétream{]
.parallel () o X
.map(p —> p.getPrice())
.reduce (0.0, (pl, p2) -> pl + p2);

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 3

Given the code fragment:
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List<String> gwords = Mray:.aaListy *. "what ™, "when “):
BinaryOperator<String> operator - s2) =-> sl.concat(s2);
String sen = gwords.sLream()
.reduce (“Word: ", opera
System.out.printin(sen): -

What is the result?

A. Word: why what when

B. Words: why Word: Why what Word: why what when
C. Word: why Word: what Word: when

D. Compilation fails.

Correct Answer: A

QUESTION 4

Given the code fragments:

public static Optional«<String> getCountry(String loc) {
Optional<String> coulName = Optional.empty():
: = - A

if (“Paris”.equals(loc)) ﬁ’f@

coullame =

and What is the result?

tional<String> cityl = gecrCountry(“Paris”):
Optional<String> cityd = getCountry(” Vegas”):
System.out.println(cityl.ocrElse | "No und®) ) ;
if (cicty2.isPresent()) \*‘\
city2.ifPresent(x -> Systemit

K

else
System.out.printlin(c
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A. Optional [France] Optional[NotFound]
B. Optional[France] Not Found

C. France Not Found

D. France Optional[Not Found]

Correct Answer: C

QUESTION 5

Given the code fragments:

class H implements Runnable | ’"ﬂ;h
public void run() { System.out.pr] 1[{"Ran_"); ]
vl
} )
&%
class C implements Callable<Stri i
public String call() thr 'EXxception [ return "Call.”":; }
) Qv
and
ExecutcrService e3 = Executo:a.nEHSing};&IhreaiExe:utDrH,.'

as . exesurtainew B())

@ 7/ line nl
Future<String> fl = es.submit infgﬁ}: f/ line n2

System.out.println(fl.get() )z o
es.shutdown() ; <«

What is the result?

A. A compilation error occurs at line n2.

B. The program prints Run... and throws an exception.
C. Run... Call...

D. A compilation errors occurs at line nl.

Correct Answer: A
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